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1. When did the army Alpha and Beta

intelligence test began ?

(A) During First World War

(B) During Second World War

(C) Between 1920-1925

(D) In 1908

2. A person who has emotional maturity is :

(A) A person who never feels sad

(B) Has total control over his emotions

(C) Always react according to situation

(D) Freely expresses his emotions

3. Which of the following is the base of

memory ?

(A) Psychological

(B) Biological

(C) Social

(D) Emotional

4. Which of the following is the major quality of

a mentally healthy person ?

(A) Anxietyless

(B) Adjustable

(C) Self-respect

(D) All of the above

5. Which of the following is necessary for

memory ?

(A) Learning and Recognition

(B) Recall and Recognition

(C) Retention and Recall

(D) Learning and Retention

1. vkehZ vYQk rFkk chVk cqf) ijh{k.k dk fuekZ.k

fuEufyf[kr esa ls fdl le; gqvk Fkk \

(A) izFke fo'o ;q) ds le;

(B) f}rh; fo'o ;q) ds le;

(C) 1920-25 ds chp

(D) 1908 esa

2. og O;fä ftlesa laosxkRed ifjiDork gksrh gS] og %

(A) dHkh Hkh nq[kn laosx dk vuqHko ugha djrk

(B) vius laosx dks iwjk fu;U=.k esa j[krk gS

(C) fLFkfr ds izfr izfrfØ;k mi;qDr fu;U=.k ds

lkFk djrk gS

(D) vius laosxksa dh vfHkO;fä LorU= :i ls

djrk gS

3. Le`fr dk fuEufyf[kr esa ls D;k vk/kkj gS \

(A) euksoSKkfud

(B) 'kkjhfjd

(C) lkekftd

(D) laosxkRed

4. fuEufyf[kr esa ls ekufld :i ls LoLFk O;fä dh

D;k fo'ks"krk gS \

(A) fpUrkjfgr

(B) leatuh;

(C) vkRelEeku

(D) mi;qZä lHkh

5. fuEufyf[kr esa ls Le`fr gsrq D;k vko';d gS \

(A) lh[kuk rFkk igpku

(B) izR;kLej.k rFkk igpku

(C) /kkj.k rFkk izR;kLej.k

(D) lh[kuk rFkk /kkj.k
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6. The Law associated with movement in

perceptual organization is :

(A) Law of closure

(B) Law of symmetry

(C) Law of continuation

(D) Law of common fate

7. Concept of ‘Social Intelligence’ was

proposed by :

(A) Thurstone

(B) Thorndike

(C) Spearman

(D) Guilford

8. Figure-ground segregation is :

(A) Figure determined

(B) Innate

(C) Acquired

(D) Both innate and acquired

9. In which condition of sustained attention,

performance is more efficient ?

(A) Intensity of events

(B) Knowledge of result

(C) Fixed spatial location of stimulus

(D) All of the above

10. Achievement Motivation is related to :

(A) Biological Motivation

(B) Social Motivation

(C) Psychological Motivation

(D) None of the above

6. izR;{kijd laxBu esa xfr ds lkFk lEc) fu;e

gS %

(A) lekiu dk fu;e

(B) le:irk dk fu;e

(C) fujarjrk dk fu;e

(D) leku fu;fr dk fu;e

7. ^lkekftd cqf)* ds lEizR;; dh LFkkiuk fuEukafdr

us dh Fkh %

(A) FkLVZu

(B) FkkWuZMkbd

(C) Lih;jeSu

(D) fxyQksMZ

8. vkÑfr&Hkwfe iF̀kDdj.k D;k gS \

(A) vkÑfr fu/kkZfjr

(B) tUetkr

(C) vftZr

(D) nksuksa tUetkr vkSj vftZr

9. laâr vo/kku dh fdl n'kk esa fu"iknu vf/kd

n{krkiw.kZ gksrk gS \

(A) ?kVukvksa dh rhozrk

(B) ifj.kkeksa dk Kku

(C) mn~nhid ds LFkkfud vofLFkfr dh fu'p;rk

(D) mijksä lHkh

10. miyfC/k vfHkizsjd lEcfU/kr gS %

(A) tSfodh; vfHkizsjd ls

(B) lkekftd vfHkizsjd ls

(C) euksoSKkfud vfHkizsjd ls

(D) mijksDr esa ls dksbZ ugha
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11. ^^vpsru esa nfer bPNk;sa gh O;ogkj dks funsZf'kr

djrh gSaA** ;g fopkj fdl euksoSKkfud dk gS \

(A) Ýk;M

(B) eSlyks

(C) onkZbej

(D) jkstlZ

12. ^fdlh Hkh oLrq dks lexz :i ls izR;{khÑr djuk*

fopkj gS %

(A) O;ogkjokfn;ksa dk

(B) lajpukokfn;ksa dk

(C) xsLVkYVokfn;ksa dk

(D) ekuorkokfn;ksa dk

13. ^^nq[k gh fouk'k dk dkj.k gSA** ;g dFku fdl

Hkkjrh; n'kZu ls lEcfU/kr gS \

(A) Jhen~ Hkxon xhrk

(B) lka[; n'kZu

(C) ckS) n'kZu

(D) jkek;.k

14. okfpd vf/kxe esa dkSu&lh fof/k ls lh[kh x;h

lkexzh dks 'kh?kzrk ls lh[krs gSa \

(A) [kf.Mr fof/k

(B) lEiw.kZ fof/k

(C) ;qXe&lkgp;Z fof/k

(D) n'̀;&Jo.k fof/k

15. ikoykso ds vuqcU/k iz;ksx esa dqÙks dks Hkkstu ls

igys D;k fn;k tkrk Fkk \

(A) fo|qr vk?kkr

(B) ?k.Vh

(C) ikuh

(D) mijksDr esa ls dksbZ ugha

11. “Behaviour is directed by suppressed

desires of unconscious mind.” This thought

was given by which psychologist ?

(A) Freud

(B) Maslow

(C) Wertheimer

(D) Rogers

12. “To perceive an object as a whole” is a

thought of :

(A) Behaviourist

(B) Structuralist

(C) Gestaltist

(D) Humanistic

13. “Sadness is the cause of destruction.” This

statement is related with which Indian

philosophy ?

(A) Shrimad Bhagwad Gita

(B) Samkhya Darshan

(C) Buddhism

(D) Ramayana

14. In verbal learning which method is used to

learn its material fastest ?

(A) Partial method

(B) Whole method

(C) Paired-association method

(D) Audio-Visual method

15. In condition experiment of Pavlov, what was

the dog given before food ?

(A) Electric shock

(B) Bell

(C) Water

(D) None of the above
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16. Which among the following leads to more

forgetfulness ?

(A) Sleep

(B) Doing new work

(C) Injury in brain

(D) None of the above

17. Which of the following is symptom of

motivation ?

(A) Productivity

(B) Resource

(C) Influencing behaviour

(D) All of the above

18. Classical and instrumental conditioning is

related with :

(A) Pavlov and Skinner

(B) Freud and Pavlov

(C) Pavlov and Thorndike

(D) Skinner and Freud

19. Among the following, which is more

forgetful ?

(A) Useless thing

(B) Useful thing

(C) Beautiful thing

(D) None of the above

20. By birth motivation is also called as :

(A) Physical motivation

(B) Primary motivation

(C) Biological motivation

(D) All of the above

16. fuEufyf[kr esa ls foLe`fr fdlds }kjk vf/kd gksrh

gS \

(A) uhan

(B) uohu dk;Z djus esa

(C) efLr"d ij pksV ls

(D) mi;qZä esa ls dksbZ ugha

17. fuEufyf[kr esa ls izsj.kk ds D;k y{k.k gksrs gSa \

(A) fØ;k'khyrk

(B) lk/ku

(C) O;ogkj izHkkfor djuk

(D) mi;qZä lHkh

18. Dykfldy rFkk fØ;kizlwr vuqcU/k fuEufyf[kr eas

ls fdlls lEcfU/kr gS \

(A) ikoykso rFkk fLduj

(B) Ýk;M rFkk ikoykso

(C) ikoykso rFkk FkkWuZMkbd

(D) fLduj rFkk Ýk;M

19. fuEufyf[kr esa ls fdlesa vf/kd foLe`fr gksrh gS \

(A) fujFkZd oLrq

(B) lkFkZd oLrq

(C) lqUnj oLrq

(D) mi;qZä esa ls dksbZ ugha

20. tUetkr izsjd dks fuEufyf[kr esa ls D;k dgk tkrk

gS \

(A) 'kkjhfjd izsjd

(B) izkFkfed izsjd

(C) tSfodh; izsjd

(D) mi;qZä lHkh
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21. What is the maximum time limit of short-term

memory ?

(A) 10 seconds

(B) 30 seconds

(C) 1 minute

(D) 30 minutes

22. Psychology is mostly used in which field ?

(A) Education

(B) Counselling

(C) Medicine

(D) All of the above

23. Storage capacity of short-term memory is :

(A) 4-8 items

(B) 5-9 items

(C) 3-7 items

(D) 10-15 items

24. Which was the first subject-matter of

Psychology ?

(A) Mind

(B) Soul

(C) Consciousness

(D) Behaviour

25. The appropriate subject-matter of today's

Psychology is :

(A) Human

(B) Behaviour

(C) Human and animals

(D) Mind

21. y?kqdkyhu Lèfr dh vf/kdre le;&lhek gksrh gS %

(A) 10 lsds.M

(B) 30 lsds.M

(C) 1 feuV

(D) 30 feuV

22. euksfoKku dk mi;ksx fdl {ks= esa lcls vf/kd

gksrk gS \

(A) f'k{kk esa

(B) ijke'kZ esa

(C) fpfdRlk esa

(D) mijksä lHkh

23. y?kqdkyhu Lef̀r dh lap;u {kerk gS %

(A) 4-8 in

(B) 5-9 in

(C) 3-7 in

(D) 10-15 in

24. loZizFke euksfoKku dh fo"k;oLrq Fkh %

(A) eu

(B) vkRek

(C) psruk

(D) O;ogkj

25. vkt ds euksfoKku dh mfpr fo"k;oLrq gS %

(A) ekuo

(B) O;ogkj

(C) ekuo ,oa i'kq

(D) eu

[P.T.O.]
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26. fuEukafdr esa ls dkSu&lk xq.k vo/kku esa ugha ik;k

tkrk gS \

(A) vo/kku esa fo'ks"k izdkj dk 'kkjhfjd vfHk;kstu

gksrk gS

(B) vo/kku dk foLrkj lhfer gksrk gS

(C) vo/kku esa foHkktu dk xq.k ik;k tkrk gS

(D) vo/kku dk Lo:i HkkokRed gksrk gS

27. 'kkfCnd lh[kus esa fdl fof/k dk mi;ksx iz;ksT;ksa dks

izsfjr djus esa ugha fd;k tkrk gS \

(A) nqf'park

(B) oapu

(C) n.M

(D) iqjLdkj

28. laosx dk f}dkjd fl)kUr fdlds }kjk izfrikfnr

fd;k x;k \

(A) fgyxkMZ

(B) dSuu&ckMZ

(C) LdSVj&flaxj

(D) okWVlu

29. eSlyks ds inkuqØe fl)kUr dh vfHkdfYir mPpre

vko';drk gS %

(A) lEeku

(B) lEcU/ku

(C) nSfgd lqj{kk

(D) vkReflf)

30. fuEufyf[kr esa ls dkSu&lk vax laosxksa ij vf/kd

fu;U=.k j[krk gS \

(A) FkSyel

(B) lq"kqEuk

(C) miFkSyel

(D) ân;

26. Which of the following quality is not a part of

attention ?

(A) Specific bodily adjustment during

attention

(B) The span of attention  is limited

(C) The quality of division is found in attention

(D) The nature of attention is affective

27. To motivate subject through verbal learning,

which of the following method is not used ?

(A) Anxiety

(B) Deprivation

(C) Punishment

(D) Reward

28. Who proposed the two-factor theory of

emotion ?

(A) Hilgard

(B) Cannon-Bard

(C) Schachter-Singer

(D) Watson

29. The highest need assumed in Maslow’s

hierarchy theory is :

(A) Esteem

(B) Belongingness

(C) Physical Safety

(D) Self-actualization

30. Which of the following organs exerts more

control over emotions ?

(A) Thalamus

(B) Spinal cord

(C) Hypothalamus

(D) Heart
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31. The I.Q. (Intelligence Quotient) of a genius

boy is :

(A) 120

(B) More than 140

(C) More than 130

(D) 110

32. A psychological experiment is different from

scientific experiments because :

(A) This experiment is conducted on a living

person

(B) The result of it is used for human welfare

(C) These experiments are easy

(D) Possibilities of individual differences

33. Which of the following is the subject related

to determinants in verbal learning ?

(A) Memory span

(B) Motivation

(C) Age

(D) All of the above

34. What is the age indicating the beginning of

decline in intelligence ?

(A) 30

(B) 38

(C) 50

(D) 40

35. What is the formula of chunking in short-term

memory ?

(A) 5   2

(B) 6   2

(C) 8   2

(D) 7   2

31. izfrHkk'kkyh ckyd dh cqf)&yfC/k D;k gksrh gS \

(A) 120

(B) 140 ls vf/kd

(C) 130 ls vf/kd

(D) 110

32. ,d euksoSKkfud iz;ksx nwljs oSKkfud iz;ksxksa ls

fHkUu gS] D;ksafd %

(A) ;g iz;ksx thfor izk.kh ij gksrs gSa

(B) blesa izkIr ifj.kke dk mi;ksx ekuo dY;k.k

ds fy, gksrk gS

(C) ;g iz;skx ljy gksrs gSa

(D) O;fäxr fHkUurk dh lEHkkouk gksrh gS

33. okfpd vf/kxe essa iz;ksT; ls lEcfU/kr fu/kkZjd

rRo buesa ls dkSu gS \

(A) Le`fr foLrkj

(B) izsj.kk

(C) vk;q

(D) mijksDr lHkh

34. cqf) esa gzkl dk ladsr fdl mez esa feyus yxrk

gS \

(A) 30

(B) 38

(C) 50

(D) 40

35. y?kqdkyhu Lef̀r esa pqafdax izfØ;k dk lw= gS %

(A) 5   2

(B) 6   2

(C) 8   2

(D) 7   2
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36. cqf)&yfC/k dk lEizR;; fodflr fd;k %

(A) fcus us

(B) VeZu us

(C) os'yj us

(D) LVuZ us

37. lcls igyk cqf) ijh{k.k fuEukafdr esa ls dkSu gS \

(A) os'yj cqf) Ldsy

(B) fcus&lkbeu ijh{k.k

(C) jSosu izksxzsflo eSfVªlst

(D) xqM,uQ Mªk&,&eSu ijh{k.k

38. mn~nhid&izk.kh&vuqfØ;k fdl mikxe dk vk/kkj

gS \

(A) euksfo'ys"k.koknh mikxe

(B) laKkukRed mikxe

(C) O;ogkjoknh mikxe

(D) ekuorkoknh mikxe

39. buesa ls dkSu&lk izR;{khdj.k dk fu;e ugha gS \

(A) lekurk dk fu;e

(B) fujUrjrk dk fu;e

(C) ckjEckjrk dk fu;e

(D) vH;kl dk fu;e

40. lkekU; cqf) dk izlkj D;k gS \

(A) 110-119

(B) 80-89

(C) 70-79

(D) 90-109

36. The concept of intelligence quotient (I.Q.)

was developed by :

(A) Binet

(B) Terman

(C) Wechsler

(D) Stern

37. Which of the following is the first intelligence

test ?

(A) Wechsler Intelligence Scale

(B) Binet-Simon Test

(C) Raven’s Progressive Matrices

(D) Goodenough Draw-A-Man Test

38. Stimulus-Organism-Response is a part of

which approach ?

(A) Psychoanalytical approach

(B) Cognitive approach

(C) Behaviouristic approach

(D) Humanistic approach

39. Which of the following is not a Law of

Perception ?

(A) Law of Similarity

(B) Law of Continuity

(C) Law of Repetition

(D) Law of Exercise

40. What is the range of normal intelligence ?

(A) 110-119

(B) 80-89

(C) 70-79

(D) 90-109
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41. Which of the following is not a step of

Psychological Experiment ?

(A) Problem

(B) Hypothesis

(C) Aim

(D) Result table

42. The effect of birth order on intelligence

suggest the importance of which factor ?

(A) Environment

(B) Heredity

(C) Culture

(D) Race

43. Which type of words were devised by

Ebbinghaus to study memory ?

(A) Meaningful words

(B) Nonsense syllable

(C) Pictorial words

(D) None of the above

44. Psychology has originated from :

(A) Education

(B) Philosophy

(C) Anatomy

(D) Economics

45. According to Carl Rogers, the structure of

personality is based on :

(A) Ego and superego

(B) Inferiority and superiority

(C) Organism and self

(D) Conscious and collective unconscious

41. fuEufyf[kr esa ls dkSu euksoSKkfud iz;ksx dk in

ugha gS \

(A) leL;k

(B) midYiuk

(C) mn~ns';

(D) ifj.kke rkfydk

42. cqf) ij tUeØe dk izHkko fdl dkjd dk egRo

bafxr djrk gS \

(A) i;kZoj.k

(B) vkuqoaf'kdrk

(C) laLÑfr

(D) iztkfr

43. ,fcaxgkWl us Le`fr ds v/;;u ds fy, dkSu&ls

'kCnksa dk fuekZ.k fd;k \

(A) lkFkZd 'kCn

(B) fujFkZd 'kCn

(C) fp=kRed 'kCn

(D) mijksä esa ls dksbZ ugha

44. euksfoKku fo"k; dk tUe gqvk gS %

(A) f'k{kk'kkL= ls

(B) n'kZu'kkL= ls

(C) 'kjhj'kkL= ls

(D) vFkZ'kkL= ls

45. dkyZ jkstlZ ds vuqlkj O;fäRo dh lajpuk fdl

ij vk/kkfjr gS \

(A) vge~ vkSj ijkge~

(B) ghurk vkSj Js"Brk

(C) vo;o vkSj vkRek

(D) psrurk vkSj lkewfgd vpsrurk

[P.T.O.]
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46. v[kckj esa Nis cM+s v{kjksa ij vo/kku tYnh gksrk

gS] bldk dkj.k gS %

(A) mn~nhid esa ifjorZu

(B) mn~nhid dk vkdkj

(C) O;fDr dh bPNk

(D) mn~nhid dh uohurk

47. fuEukafdr esa ls fdldh vof/k lcls de gksrh gS \

(A) izfrekijd Le`fr

(B) izfr/ofu Le`fr

(C) y?kqdkyhu Lef̀r

(D) vkRepfjr Lef̀r

48. Ýk;M ds vuqlkj ewyizo`fÙk ds nks eq[; izdkj gSa tks

fuEukafdr esa ls dkSu&ls gSa \

(A) vkØkedrk rFkk fpUrk

(B) vga rFkk ijkga

(C) ,sjksl rFkk FkSukVksl

(D) bne~ rFkk ijkge~

49. fuEukafdr esa ls fdls GSR dk nSfgd fu/kkZjd ugha

ekuk tk ldrk gS \

(A) is'kh; fØ;k;sa

(B) jDr lapkyu ls lEc) fØ;k;sa

(C) ilhuk xzfUFk;ksa ls lEc) fØ;k;sa

(D) efLr"d dh fØ;k;sas

50. dSVsy us O;fDrRo ds fdrus 'khyxq.kksa dks eq[;

crk;k gS \

(A) 10

(B) 16

(C) 25

(D) 34

46. The reason behind attention towards the big

headlines of the newspaper is :

(A) Change in stimulus

(B) Size of stimulus

(C) Interest of the person

(D) Novelty of stimulus

47. Which of the following has smallest

duration ?

(A) Iconic memory

(B) Echonic memory

(C) Short-term memory

(D) Autobiographical memory

48. Which among the following are the two main

Instinct according to Freud ?

(A) Aggression and anxiety

(B) Ego and superego

(C) Eros and thanatos

(D) Id and superego

49. Which of the following is not a part of G.S.R.

of the physiological determinants ?

(A) Muscular activities

(B) Blood circulatory activities

(C) Activities of sweat glands

(D) Activities of brain

50. Number of major traits in Personality as told

by Cattell are :

(A) 10

(B) 16

(C) 25

(D) 34



(  13  )PSY./A090101T-C/270

51. fuEufyf[kr esa ls dkSu&lk ØekuqØe vfHkizsj.kk ds

Lo:i dk izfrfuf/kRo djrk gS \

(A) lefLFkfr&vko';drk&iz.kksnu&vuqfØ;k

(B) lefLFkfr&iz.kksnu&vko';drk

(C) vko';drk&iz.kksnu&lefLFkfr&vuqfØ;k

(D) vko';drk&iz.kksnu&vuqfØ;k&lefLFkfr

52. fLduj rFkk uSfefÙkd vuqcU/ku esa ogh lEcU/k gS

tks c.Mwjk rFkk %

(A) lkgp;kZRed vf/kxe esa

(B) izR;{kijd vf/kxe esa

(C) izs{k.kkRed vf/kxe esa

(D) lkekftd vf/kxe esa

53. fuEufyf[kr lw= }kjk cqf)&yC/kkad izkIr fd;k

tkrk gS %

(A)
ekufld vk;q $ okLrfod vk;q

100

(B)
ekufld vk;q 

okLrfod vk;q
x 100

(C)
ekufld vk;q  okLrfod vk;qx

100

(D)
okLrfod vk;q 

ekufld vk;q
x 100

54. Hkze D;k gS \

(A) feF;k izR;{khdj.k

(B) lkaosfnd míhid dh =qfViw.kZ O;k[;k

(C) míhid ds izfr foÑr fopkj

(D) Lopkfyr vkRe&izoapu

51. Which of the following sequence represents

nature of motivation ?

(A) Homeostasis-need-drive-response

(B) Homeostasis-drive-need

(C) Need-drive-homeostasis-response

(D) Need-drive-response-homeostasis

52. Skinner to instrumental learning as Bandura is

to :

(A) Associative learning

(B) Perceptual learning

(C) Observational learning

(D) Social learning

53. I.Q. is calculated with the help of the following

formula :

(A)
MA + CA

100

(B)
MA

CA
x 100

(C)
MA x CA

100

(D)
CA

MA
x 100

54. Illusion is :

(A) False perception

(B) Misinterpretation of sensory stimulus

(C) Distorted ideas about stimulation

(D) Automatic self-deception

[P.T.O.]
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55. tho izcyu rHkh izkIr djrk gS tc og fuf'pr

izR;kf'kr vuqfØ;k nsuk lh[krk gSA bls D;k uke

fn;k tkrk gS \

(A) Dykfldy vuqcU/ku

(B) uSfefÙkd vuqcU/ku

(C) lfojke iqucZyu

(D) vuqikr iqucZyu

56. bdksbd Lèfr ¼izfr/oU;kRed½ fdldk mYys[k djrh gS \

(A) ,d n'̀; izR;{k.k

(B) 'kkfCnd lafgrk

(C) Jo.k izR;{k.k

(D) fuf"Ø; lafgrk

57. cqf) dk f}dkjd fl)kUr lEcfU/kr gS %

(A) fcus ls

(B) Lih;jeSu ls

(C) FkkuZMkbd ls

(D) jSosu ls

58. fuEufyf[kr esa ls dkSu vfHkizsfjr O;ogkj dk y{k.k

gS \

(A) ân; xfr esa ifjorZu

(B) 'olu ifjorZu

(C) O;ogkj esa fn'kk

(D) izcyu

59. cqf) ds f=vk;keh fl)kUr ds vuqlkj cqf) ds

dkjdksa dh la[;k gS %

(A) 90 (B) 110

(C) 135 (D) 150

55. The organism receives reinforcement when it

learns to give a certain expected response. This

is termed as :

(A) Classical conditioning

(B) Instrumental conditioning

(C) Intermittent reinforcement

(D) Ratio reinforcement

56. Echoic memory refers to :

(A) A visual perception

(B) Verbal codes

(C) Auditory perception

(D) Inactive codes

57. The two-factor theory of intelligence is related

with :

(A) Binet

(B) Spearman

(C) Thorndike

(D) Raven

58. Which of the following is a symptom of

motivational behaviour ?

(A) Changes in heartbeat

(B) Respiratory changes

(C) Direction in behaviour

(D) Reinforcement

59. The number of factors of intelligence according

to tridimensional theory is :

(A) 90 (B) 110

(C) 135 (D) 150
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60. ^xeyk psgjk* fp= dh jpuk dh %

(A) gsYegksYV~t us

(B) dks¶dk us

(C) xzsxjh us

(D) :fcu us

61. vuqfØ;k D;k gS \

(A) dksbZ xfrfof/k

(B) izfrek

(C) míhid ds izfr izfrfØ;k

(D) mijksDr esa ls dksbZ ugha

62. fdlh oLrq ij :fp ds dkj.k /;ku nsuk dgk tkrk

gS %

(A) vknR;tU; vo/kku

(B) ,sfPNd vo/kku

(C) míhid vo/kku

(D) fo'ys"k.kkRed vo/kku

63. dkSu&lk tSfod fu/kkZjd O;fDrRo dks izHkkfor

djrk gS \

(A) 'kkjhfjd lajpuk

(B) Luk;qe.My

(C) lefLFkfr

(D) mijksDr lHkh

64. ^fdlh oLrq dk izR;{khdj.k lexz :i esa fd;k tkrk

gS*] bls fdlus dgk \

(A) fQ'kj

(B) Msacj

(C) cksfjax

(D) dks¶dk ,oa dksgyj

60. The vase face figure was constructed by :

(A) Helmholtz

(B) Koffka

(C) Gregory

(D) Rubin

61. What is response ?

(A) An activity

(B) Image

(C) Response to stimuli

(D) None of the above

62. Paying attention to an object owing to interest is

called :

(A) Habitual attention

(B) Voluntary attention

(C) Stimulus attention

(D) Analytical attention

63. Which biological determinant has effect on the

Personality ?

(A) Physical structure

(B) Nervous system

(C) Homeostasis

(D) All of the above

64. 'An object is perceived as a whole', who said

it ?

(A) Fisher

(B) Dember

(C) Boring

(D) Koffka and Kohler
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65. ,adj fdl izdkj dk izs{k.k djrs gSa \

(A) fu;fU=r izs{k.k

(B) vfu;fU=r izs{k.k

(C) lgHkkxh izs{k.k

(D) vlgHkkxh izs{k.k

66. vkÑfr js[kk fdlds fy, miyC/k gksrh gS \

(A) vkÑfr i`"BHkwfe

(B) vkÑfr

(C) laosnuk

(D) i"̀BHkwfe

67. mPpekufld izfØ;k,¡ vk/kkfjr gSa %

(A) laKkukRed mikxe ij

(B) euksfo'ys"k.kkRed mikxe ij

(C) ekuorkoknh mikxe ij

(D) O;ogkjoknh mikxe ij

68. leL;k ds izfr izLrkfor mÙkj dks dgk tkrk gS %

(A) dkj.k (B) midYiuk

(C) leL;k (D) fu;e

69. gLr{ksi@vkPNknu ladsr miyC/k djkrk gS %

(A) vkdkj ds fy,

(B) vkÑfr ds fy,

(C) xfr ds fy,

(D) nwjh ,oa xgjkbZ ds fy,

70. Hkkjr esa euksfoKku dk ewy lzksr ge dgk¡ ikrs

gSa \

(A) flU/kq lH;rk esa

(B) jkek;.k esa

(C) Hkxon xhrk esa

(D) vFkZ'kkL= esa

65. Which type of observation is done by an anchor ?

(A) Controlled observation

(B) Uncontrolled observation

(C) Participant observation

(D) Non-participant observation

66. Contours are available for :

(A) Figure background

(B) Figure

(C) Sensation

(D) Background

67. Higher mental process is based on :

(A) Cognitive approach

(B) Psychoanalytic approach

(C) Huministic approach

(D) Behaviouristic approach

68. A suggested answer to a problem is said to be :

(A) Cause (B) Hypothesis

(C) Problem (D) Law

69. Interposition provides cue for :

(A) Size

(B) Shape

(C) Motion

(D) Distance and Depth

70. In India, where we find the basic source of

Psychology ?

(A) Sindhu Sabhyata

(B) Ramayana

(C) Bhagawad Gita

(D) Economics
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71. Who established the first laboratory of

Psychology ?

(A) Helmholtz

(B) Herbart

(C) Wundt

(D) Lange

72. Attention is process by which we select :

(A) Objects

(B) Stimulus

(C) Interesting objects

(D) Determinants of attention

73. Psychology is the science of :

(A) Mind

(B) Soul

(C) Consciousness

(D) Behaviour and mental process

74. Which law is not included in central law of

perception ?

(A) Law of meaning

(B) Law of experiment

(C) Law of set

(D) Law of meaningfulness

75. The word 'Persona' relates to :

(A) Organism

(B) Knowledge

(C) Ability

(D) Personality

71. euksfoKku dh igyh iz;ksx'kkyk dks fdlus LFkkfir

fd;k \

(A) gsYegksYV~t

(B) gjckVZ

(C) oq.V

(D) ykUts

72. vo/kku og izfØ;k gS ftlds }kjk ge pqurs gSa %

(A) oLrq,¡

(B) míhid

(C) :fp dh oLrq,¡

(D) vo/kku ds fu/kkZjd

73. euksfoKku foKku gS %

(A) eu dk

(B) vkRek dk

(C) psruk dk

(D) O;ogkj ,oa ekufld izfØ;kvksa dk

74. izR;{k.k ds dsUnzh; fu;e ds vUrxZr dkSu&lk

fu;e 'kkfey ugha gS \

(A) vFkZ dk fu;e

(B) iz;ksx dk fu;e

(C) lsV dk fu;e

(D) vFkZxHkZrk dk fu;e

75. ^ijlksuk* 'kCn lEcfU/kr gS %

(A) izk.kh ls

(B) Kku ls

(C) ;ksX;rk ls

(D) O;fDrRo ls
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76. ^^O;fDrRo 'khyxq.kksa dk xR;kRed laxBu gS**] ;g

fdlus dgk \

(A) vkbtsUd

(B) dSVy

(C) vkyiksVZ

(D) ,Myj

77. gkbiksFkSysel dks laosx dk ,d egRoiw.kZ i{k ekuk

x;k gS %

(A) tsEl&ykUts fl)kUr esa

(B) dSuu&ckMZ fl)kUr esa

(C) lfØ;rk fl)kUr esa

(D) xq.kkjksi.k fl)kUr esa

78. laosnuk,¡ tks xyr izR;{khdj.k dk izknqHkkZo djrh

gSa] mUgsa dgk tkrk gS %

(A) Hkze

(B) foHkze

(C) vkÑfr i"̀BHkwfe mRØe.k

(D) lgkuqHkwfr

79. ifjgkj vf/kxe izfreku esa D;k fufgr gS \

(A) ikoyksfo;u vuqcU/ku ek=

(B) uSfefÙkd vuqcU/ku ek=

(C) nksuksa ikoyksfo;u ,oa uSfefÙkd vuqcU/ku

(D) iwoZlkaosfnd vuqcU/ku

80. lkl&cgw dk fp= cuk;k x;k %

(A) cksfjax }kjk

(B) ,sekUl }kjk

(C) yhij }kjk

(D) mijksDr esa ls dksbZ ugha

76. "Personality is the dynamic organization of

traits", who said it ?

(A) Eysenck

(B) Cattell

(C) Allport

(D) Adler

77. Hypothalamus is considered as critical aspect

of emotion in :

(A) James-Lange theory

(B) Cannon-Bard theory

(C) Activation theory

(D) Attribution theory

78. Sensations that give rise to misperceptions are

called :

(A) Illusion

(B) Hallucination

(C) Figure-background reversal

(D) Empathy

79. Avoidance learning paradigm involves :

(A) Pavlovian conditioning only

(B) Instrumental conditioning only

(C) Both Pavlovian and Instrumental

conditioning

(D) Presensory conditioning

80. The mother-in-law and my wife figure was

drawn by :

(A) Boring

(B) Ammons

(C) Leeper

(D) None of the above
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81. O;fDrRo izHkkfor gksrk gS %

(A) dsoy tSfod dkjdksa }kjk

(B) dsoy lkekftd&lkaLÑfrd dkjdksa }kjk

(C) tSfod ,oa lkekftd dkjdksa dh vUr%fØ;k }kjk

(D) mi;qZDr esa ls dksbZ ugha

82. lekoLFkkfud fLFkfr ¼gksE;ksLVsfll½ dgrs gSa %

(A) lUrqyu voLFkk dks iquLFkkZfir djus dh iz.kkyh dks

(B) bfPNr Lrj rd míksyu dks cuk, j[kus dh izfØ;k

dks

(C) 'kkjhfjd voLFkk dks lUrqfyr j[kus dks

(D) lkaosfxd voLFkk esa gzkl dks

83. laosx esa lkbdks&xSYokfud vuqfØ;k dk ekiu gksrk

gS %

(A) bZ-bZ-th- ls

(B) bZ-lh-th- ls

(C) bZ-,e-th- ls

(D) th-,l-vkj- ls

84. fdl fl)kUr ds vuqlkj laosxkRed vuqHkwfr ds iwoZ

laosxkRed O;ogkj ?kfVr gksrk gS \

(A) dSuu&ckMZ

(B) tsEl&ykUts

(C) MksykMZ&feyj

(D) dks¶dk&dksgyj

85. fdl izdkj dh Le`fr esa foLej.k dh laHkkouk

U;wure gksrh gS \

(A) ?kVukRed Le`fr

(B) vkRedFkkRed Lef̀r

(C) 'kCnkFkZfo"k;d Lef̀r

(D) izR;{kn'khZ Le`fr

81. Personality is influenced by :

(A) Only biological factors

(B) Only socio-cultural factors

(C) Interaction of biological and social factors

(D) None of the above

82. Homeostasis is known as :

(A) System of restoring a state of equilibrium

(B) Maintaining arousal at desired level

(C) Balancing the physiological state

(D) Reducing emotional state

83. Psycho-galvanic response in emotion is

measured by :

(A) E.E.G.

(B) E.C.G.

(C) E.M.G.

(D) G.S.R.

84. Emotional experience precedes emotional

behaviour in the theory of :

(A) Cannon-Bard

(B) James-Lange

(C) Dollard-Miller

(D) Koffka-Kohler

85. Which type of memory is least susceptible to

forgetting ?

(A) Episodic memory

(B) Autobiographical memory

(C) Semantic memory

(D) Eye-witness memory
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86. thou ,oa e`R;q ewy izo`fÙk;ksa dh vo/kkj.kk fdlds

}kjk izLrqr dh xbZ \

(A) eSDMwxy

(B) ,Myj

(C) Ýk;M

(D) MksykMZ ,oa feyj

87. O;ogkj esa minzo ;k rwQku dks dgk tkrk gS %

(A) ruko

(B) fpUrk

(C) izsj.kk

(D) laosx

88. vkUrfjd 'kkjhfjd larqyu dh izfØ;k dk D;k uke

gS \

(A) vko';drkiwfrZ

(B) FkeksZLVsV

(C) lekoLFkku

(D) mijksDr esa ls dksbZ ugha

89. 70 ls de cqf)&yfC/k ladsr gS %

(A) ekufld vlkekU;rk dk

(B) ekufld lkekU;rk dk

(C) lhekUr cqf) dk

(D) ekufld eUnrk dk

90. fuEufyf[kr esa ls fdls euksfoKku dh fo"k;oLrq esa

'kkfey fd;k tk ldrk gS \

(A) euksfoKku ds iqLrdksa dk v/;;u djuk

(B) euksoSKkfud midj.kksa dk fp= cukuk

(C) izk.kh ds O;ogkj ,oa laKkukRed izfØ;kvksa dk

v/;;u djuk

(D) euksoSKkfudksa ls fdlh fo"k; ij fopkj&foe'kZ djuk

86. The concepts of life (eros) and death (thanatos)

instincts was proposed by :

(A) McDougall

(B) Adler

(C) Freud

(D) Dollard and Miller

87. Stir in behaviour is called :

(A) Tension

(B) Anxiety

(C) Motivation

(D) Emotion

88. What is the name of the process of internal

bodily balance ?

(A) Need satisfaction

(B) Thermostat

(C) Homeostasis

(D) None of the above

89. The I.Q. below 70 is an indication of :

(A) Mental abnormality

(B) Mental normality

(C) Borderline intelligence

(D) Mental retardation

90. Which of the following can be included in the

Psychological content ?

(A) Studying books in psychology

(B) Drawing the diagram of psychological

instruments

(C) To study the human behaviour and cognitive

processes

(D) Having discussion with psychologists
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91. fu;fU=r ifjfLFkfr;ksa esa v/;;u dks dgk tkrk gS %

(A) ekiu

(B) iz;ksx

(C) izs{k.k

(D) ijh{k.k

92. vkRerU= lEcfU/kr gS %

(A) fpUru ls

(B) izR;{k.k ls

(C) nksuksa (A) ,oa (B)

(D) mijksDr esa ls dksbZ ugha

93. ^euksfoKku* 'kCn dh jpuk dh %

(A) onkZbej us

(B) ykUts us

(C) esykudFkkWu us

(D) gjckVZ us

94. míhid dk vFkZ gS %

(A) ftls ekik tkrk gS

(B) ftldk izHkko ns[krs gSa

(C) tks vewrZ gS

(D) tks vuqfØ;k mRiUu djrk gS

95. laosnukvksa dks lkFkZd vFkZ nsus dks dgk tkrk gS %

(A) izfrek

(B) izR;{khdj.k

(C) euksoSKkfud izØe

(D) mijksDr esa ls dksbZ ugha

91. A study in controlled condition is called :

(A) Measurement

(B) Experiment

(C) Observation

(D) Testing

92. Self-system is related with :

(A) Thinking

(B) Perception

(C) Both (A) and (B)

(D) None of the above

93. The term Psychology was coined by :

(A) Wertheimer

(B) Lange

(C) Melanchthon

(D) Herbart

94. Meaning of stimulus is :

(A) Which is measured

(B) Effect of which is observed

(C) Which is abstract

(D) Which evokes response

95. Making the sensation meaningful is called :

(A) Image

(B) Perception

(C) Psychological process

(D) None of the above

[P.T.O.]
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96. jksxh dk vo/kku nok dh nqdku dh vksj tkus dks

fdl Js.kh dk vo/kku dgsaxs \

(A) ,sfPNd vo/kku

(B) LokHkkfod vo/kku

(C) vuSfPNd vo/kku

(D) vfLFkj vo/kku

97. fuEukafdr esa ls fdls laosnh Lèfr esa j[kk tk ldrk gS\

(A) izklafxd Le`fr

(B) vFkZxr Lef̀r

(C) izfr/ofu Lef̀r

(D) dk;Zfof/k Le`fr

98. I;kl ,d rjg dh %

(A) pØh; vko';drk gS

(B) vpØh; vko';drk gS

(C) fof'k"V vko';drk gS

(D) lkekU; vko';drk gS

99. O;kogkfjd cqf) dks dgk tkrk gS %

(A) ewrZ cqf)

(B) vewrZ cqf)

(C) lkekftd cqf)

(D) laKkukRed {kerk

100. laosxkRed fLFkfr esa fdl gkWeksZUl dk lcls T;knk

lzko gksrk gS \

(A) bUlqfyu

(B) ,.Mªkstu

(C) ,LVªkstu

(D) ,fiusÝhu ,oa ukWj,fiusÝhu

96. A patient being attentive to a medical store is

which type of attention ?

(A) Voluntary attention

(B) Habitual attention

(C) Involuntary attention

(D) Fluctuated attention

97. Which is the part of sensorial memory ?

(A) Episodic memory

(B) Semantic memory

(C) Echoic memory

(D) Procedural memory

98. Thirst is type of :

(A) Cyclic need

(B) Non-cyclic need

(C) Specific need

(D) General need

99. The practical intelligence is called :

(A) Concrete intelligence

(B) Abstract intelligence

(C) Social intelligence

(D) Cognitive ability

100. Which of the following hormones are secreted

more in quantity during emotional situation ?

(A) Insulin

(B) Androgen

(C) Estrogen

(D) Epinephrine and Norepinephrine
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mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA
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